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And when we elevate — 91 RNIMIRT2 Y9372 3357 POAD 721072 119007 99
from 57290 to ons that is only by Xn=I87 712170, etc.

OVERVIEW

PMX° 72 7M1 27 asked X217 what is the 79%7 whether 770M% 2°93 MXWIn PoYA. K
cited a Xn>*12 which indicates that 151 1R. *"217 rejected this proof since there it
was WP ¥; to which X239 responded aptn a91Tx R RPXR. "1 offered two
responses, the second (X"vaR1), which is the subject of this mMdoIN, includes the idea
that we are XN™7IRT 721707 179V to Pony (but not from 71237 72170).

- 105 9293 XY N0 12929 12 PHYY 13229
The 2''2°1 is not 713 in this X"vaR) that we are 101 7210% 7%91 only by 27N
Xn»71X7 and not by 11277 71N -
- 19 9RD 2N 29 NN NPYIN NNT
For it is °"217 who offers this X" Y2°R -
= NYANY NI INYA 9D 79D 19 ONX 1Y 19209 ON)
And we would be X071 this X"v2X then °"217 would himself contradict the
proof which he previously brought to substantiate his view that by the case of the 12
"2 it was 7P ¥ (and therefore there is no concern of Pon 1%vyn from 0°95 NMIXWI),
namely the proof of >"217 was —
- YDIONY SHIN NN PON1Y 129999 PIYN MMNT INNY 597 N1 NY INT
For if you will not agree to this (that by the °2°112 °12 it was 7P ¥°9), then
according to the om» a1ann Phyn 7'"n, they would come to be 7797 the °12
"2°112 to PONY since they were continuing to eat 77171, therefore
=NPIN Y97 DIVN NNPYL NOHN
We must rather say the reason they were not concerned that the *7°172 °12 would
be 11132 79w on account of 7M1N N°aR (and subsequently on account of 2"w1) is
because 19217 ¥99 (this is what *"217 said initially). However according to this X"Vax1 he is
saying that we are not 11217 7m1n» 1°9v7, so what proof is there from the *2°112 °12 case that ¥
PN (regarding 0°92 MX°WI) prevents the Po¥n (since there no concern to be 79¥1 on account of
7m17n), however by 2170 we would not be 7779 them anyways even if not for ¥1°p1 ¥, since

they were only eating 71277 fn170!
= 995N NN NND INDY 99N> XD ON 07UN N0 1T PN

! According to the 0"21 the X073 should be; 21 TP 719172 "X K9XY 799K X2 121 *n1 XNWwi X"YaN); omitting the phrase
17PN K2 31 11°p00 o).
% This refers to PrY’ 721", See ‘Overview’. See X281 11"7 '0n (on this 71mY) where he states NRT XNWi 2R, referring
(seemingly) to >"a1.

1

TosfosInEnglish.com



21 7"7 "0 X,70 M2 .7"'02

And this is not the pattern of the X223 for someone to make contradictory
statements, unless he prefaces the contradictory statement by saying, ‘what I said
previously is pointless’.’

moon explains how indeed this X07°3 was mentioned here, since it is contradicted:
1IN DAY VY ONNT RAVIY 2N NY 19909) (3,00 puITp) 41’01‘\1’ NIYY PH92)

And we are o7 this contradictory phrase in the X"¥aX) in Pon» 79wy P99, and
because the flow of the X773 there (which brings the entire X"vax1), they erred in
copying the entire X"v2X) here, where it does not belong.

SUMMARY

The X"¥aR) that we are not POR% 13277 ann 7297 contradicts the initial proof of
1"7 for his contention that by 7°p11 ¥ there is no concern of P2vn. Therefore we
cannot be 0711 it here (only in PYIT°P).

THINKING IT OVER
1. According to the 1om™ mmnn 197 7" can we be 1°0M1°% 11277 1NN A9YH or
only RNPIRT 71NN?

2. The 0"21 changes the X072 of our X 3. Why did he not change the X077
differently; by omitting the X"vaX) and inserting instead K7 X°7 Xn?°n R, as
mooIn indicates, which would be just as appropriate?’

3 51937 did not make such a disclaimer, therefore we cannot be 0712 the 121 1°pdn °21, since it contradicts that which
°""211 stated previously.
* The X3 there is similar to our X3 here citing the Xn> 2 of the *112 *12 and asking on the "1 1991 7"» and trying
to explain 1Pt 77173 by giving the same two answers given here, with the exception that >"217 name is not
mentioned. Therefore over there where there is no single X7mX who contradicts himself we can mention the X"vax?;
however not here where it would contradict >"217 original proof.
> See An9w *ran.
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